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Q 1.  Sum of four nonzero vectors is zero , Then  

 (a) they must be coplanar 

 (b) they may be coplanar 

 (c) Sum of magnitude of any two vectors must be equal to that of other two vectors. 

 (d) magnitude of sum of any two vectors must be equal to that of other two vectors 

 

Q 2.  if 𝐴  has greater magnitude than 𝐵⃗⃗  Then maximum possible angle between sum of 

vectors with 𝐴 is  

 (a) cos−1
𝐵

𝐴
     (b) cos−1

𝐵

√𝐴2+𝐵2
  

   (c) sin−1
𝐵

𝐴
    (d) Sin−1

𝐵

√𝐴2+𝐵2
 

 

Q 3. If   𝐴 × 𝐵⃗⃗  =   𝐴 × 𝐶  then ( all three vectors are nonzero vectors )  

 (a) B must be equal to C. 

 (b) 𝐵⃗⃗   must be equal to 𝐶     

 (c) 𝐵⃗⃗  and 𝐶 must be coplanar 

 (d) 𝐵⃗⃗  and 𝐶 must be colinear.  

 

Q 4. if A = 1 , B = 2 , C = 3 and angle between 𝐴  and 𝐵⃗⃗  , 𝐵⃗⃗  and 𝐶  , 𝐶  and 𝐴  are 600 

each. Magnitude of resultant of 𝐴 , 𝐵⃗⃗  and 𝐶  is  

 (a) 3 

 (b) 4 

 (c) 5 

 (d) 6 

 

Q 5. If   𝐴 . 𝐵⃗⃗  =   𝐴  . 𝐶⃗⃗⃗⃗⃗  then ( all three vectors are nonzero vectors )  

 (a) B must be equal to C. 

 (b) 𝐵⃗⃗   must be equal to 𝐶     

 (c) 𝐵⃗⃗  and 𝐶 must be coplanar 

 (d) None of these  

 

Q 6. In an octagon ABCDEFGH of equal side, what is the sum of 𝐴𝐵⃗⃗⃗⃗ ⃗⃗ , 𝐴𝐶⃗⃗⃗⃗⃗⃗  , 𝐴𝐷⃗⃗ ⃗⃗ ⃗⃗ , 𝐴𝐸,⃗⃗ ⃗⃗ ⃗⃗ ⃗ 𝐴𝐹⃗⃗⃗⃗⃗⃗  , 

𝐴𝐺,  ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗𝑎𝑛𝑑 𝐴𝐻⃗⃗⃗⃗⃗⃗⃗   
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(a)  6 𝐴𝑂⃗⃗⃗⃗ ⃗⃗  

(b)   3 𝐴𝑂⃗⃗⃗⃗ ⃗⃗  

(c)   4 𝐴𝑂⃗⃗⃗⃗ ⃗⃗  

      (d)   𝐴𝑂⃗⃗⃗⃗ ⃗⃗  

 

Q 7. A particle is revolving in a circular track passing through point (3,4,5) about axis of 

rotation   
𝑥

1
  = 

𝑦

2
 = 

𝑧

3
  . Radius of circle is  

 (a) 1     (b) √
22

7
 

 (c) √
32

7
     (d) √

42

7
 

 

Q 8.  In an equilateral DABC, AL, BM and CN are medians. Forces along BC and BA  

represented by them will have a resultant represented by - 

 (a) 2AL   

 (b) 2BM    

 (c) 2CN    

 (d) AC  

 

Q 9. A particle is moving with uniform velocity 10 m/sec from point (2 m,5m,6m) to 

(3m,7m,8m)  Velocity vector of particle is  

 (a) 
10

3
(𝑖̂ + 2 𝑗̂ + 2 𝑘̂) m/sec  

 (b) 
10

3
(𝑖̂ +  𝑗̂ + 2 𝑘̂) m/sec 

 (c) 
5

3
(𝑖̂ + 2 𝑗̂ + 2 𝑘̂) m/sec 

 (d) 
5

6
(𝑖̂ + 2 𝑗̂ + 2 𝑘̂) m/sec 

 

  

Q 10. Vector 𝑖̂ + 2 𝑗̂ + 2 𝑘̂ is resolved in two rectangular components. One component is 

along 𝑖̂ +  𝑗̂ +  𝑘̂ . Other component is 

 (a) √
5

3
        (b) √

1

3
 

 (c) √
2

3
        (d) √

2

5
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Answer Key 

 

 

Q.1)  B,D Q.2) C Q.3) C Q.4) C Q.5) D 

Q.6) D Q.7) A Q.8) B Q.9) A Q.10) C 
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